OO0 @0 06 ®we 0o

3. thee Austel e At g AL Al
Atste] b 58 Ak,

4. ZAANA —47} 30 e He HolA 2 Ao
ol o] it F3fefet.

1 A=
— T=

8.

Algd slOo| B I
= éd-L. d_11
1. I £34dE o] &dto] AL 4= Sl 4127 5. T F3A 9o BAE & FollA AHigle] 71 &
-5 F9] 7|55 AAQ,
s 3 L
—372:;01234 A B C D 0 E
@ (-2)+(+3) @ (+3) - (-2)
® (+3) - (-5) @ (—2)+(-5)
® (+3) +(-5H) 6.
B axb =axb? _
= %% a, b ol s}l e sk,
akb =—a2xb
{(=2) % (1)} K {3 (=1)} = T-5FoI=k
2. Ao A 3 A= Al4tefoF of= A7
—4T28+[(+3):(—2)"‘}x4
T
QO © © @ @
7. A AL a, b, c 7t eSS W, q, b, ¢ Y

RSE vr2 A Astoiet,

axb<0, a>b, <0

ol

the-g Adtstofet.

17— [3- (=22 x {9+ (-3)}]

® -9 @ -4 ®O0 @ 2 ® 5
olH et 5 9] 2 Foll, 2 o] 2 S5
He BE A5 20




11.

12.

13.

14.

- z,y ol tste] 2Vy = (z,y & gk 22
50 AR, © Oy = (v,y F ARIko] 2 52
s
=

9 olet Aol u) the-g Fatolet.

BOA{=1)V(-6)} O]

la| =4, [b| =9 &
Aol vepd o, =

® 5 @ 8 ® 13 @ 18 ® 31

$2A4 9ol = A A, B 7} otk A, B Afo]9]
A7}t 150|112, = A4 Afo]o] AE 1.2 & Url
Aol 3w, = A A, B o thgshe £ 247t

Tstofat (2 A< B)

A={z]|z| < 1% A=} B={zfr= 55T Z& &5
C={zlzx=a+b, ac A, be B} € W, n(C) ¢
= stofet,

T A S B oA A 9] dYizto] B o] Ahigte)2
Hjo|1, A = B Bt} 9 T &t Stk Ax B <0
A o, Ax BE F51H?

@ -8 @ —15 ® —18

@ —24 ® —-32

15. &=
il

s
AT a,b

=
=

A
pLn

of tiste] ja| =3, [b—a| =5
A% (a,b) © 52 Fotolat,




